Name Symbol Code File
main track \draw[line width=2pt] (-2.5,0) -- ++(5,0); none
main line (double track) \draw[line width=2pt] (-2.5, 0.5) -- ++(5,0); none
\draw[line width=2pt] (-2.5,-0.5) -- ++(5,0);
side track \draw[line width=1pt] (-2.5,0) -- ++(5,0); none
train berth sign (forward) \draw[line width=2pt] (-2.5,0) -= ++(5,0); topologySymbols.tex
\pic at (0,0) {train_berth_sign_forward};
-—l . .
train berth sign (backward) \draw[line width=2pt] (-2.5,0) -= ++(5,0); topologySymbols.tex
\pic at (0,0) {train_berth_sign_backward};
.......................................... \draw[line Width=2pt] (-2.5,0) —— ++(5,0);
train berth shape \pic at (-2,0) {train_berth_shape=4}; topologySymbols.tex
.......................................... % change the 4 to desired length
\draw[line width=2pt] (-2.5,0) -- ++(5,0);
......................................... \pi (-2.0) {train berth. siem backeard):
train berth pic at ’ train_berth_sign_backwards; topologySymbols.tex

\pic at (-2,0) {train_berth_shape}l};
\pic at ( 2,0) {train_berth_sign_forward};




Name

Symbol

Code

File

platform (left)

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (-2,0) {platform_left=4};
% change the 4 to desired length

topologySymbols

.tex

platform (right)

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (-2,0) {platform_right=4};
% change the 4 to desired length

topologySymbols

.tex

platform (middle)

\draw[line width=2pt] (-2.5, 0.5) -- ++(5,0);
\draw[line width=2pt] (-2.5,-0.5) -- ++(5,0);
\pic at (-2, 0.5) {platform_right};
\pic at (-2,-0.5) {platform_left};

topologySymbols

.tex

view point (forward)

e

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (0,0) {view_point_forward};

topologySymbols

.tex

view point (backward)

0~

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (0,0) {view_point_backward};

topologySymbols

.tex

distant signal (forward)

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (0,0) {distant_signal_forward};

topologySymbols

.tex

distant signal
with speed

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (0,0) {distant_signal_forward=S};
% replace the S with desired speed or Temove

topologySymbols

.tex




Name Symbol Code File
distant signal (backward) I \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
\pic at (0,0) {distant_signal_backward};
distant signal n E>—1 \draw[line width=2pt] (-2.5,0) -- ++(5,0);
with speed \pic at (0,0) {distant_signal_backward=S}; topologySymbols.tex
/% replace the S with desired speed or remove
\draw[line width=2pt] (-2.5,0) -- ++(5,0);
speed signal (forward) \pic at (0,0) {speed_signal_forward=S}; topologySymbols.tex
L_E>‘” /% replace the S with desired speed or remove
w<]—| \draw[line width=2pt] (-2.5,0) -- ++(5,0);
speed signal (backward) \pic at (0,0) {speed_signal_backward=S}; topologySymbols.tex
/% replace the S with desired speed or remove
\draw[line width=2pt] (-2.5,0) -- ++(5,0);
block signal (forward) \pic at (0,0) {block_signal_forward=S}; topologySymbols.tex
L“‘{:]U’ /% replace the S with desired speed or remove
m|:|—| \draw[line width=2pt] (-2.5,0) —- ++(5,0);
block signal (backward) \pic at (0,0) {block_signal_backward=S}; topologySymbols.tex
% replace the S with desired speed or Temove
\draw[line width=2pt] (-2.5,0) -- ++(5,0);
route signal (forward) \pic at (0,0) {route_signal_forward=S}; topologySymbols.tex

% replace the S with desired speed or Temove




Name Symbol Code File
U7<:}——1 \draw[line width=2pt] (-2.5,0) -- ++(5,0);
route signal (backward) \pic at (0,0) {route_signal_backward=S}; topologySymbols.tex
/% replace the S with desired speed or remove
shunt signal (forward) \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
[ o \pic at (0,0) {shunt_signal_ forward};
shunt signal (backward) I \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
\pic at (0,0) {shunt_signal_backward};
shunt limit (forward) \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
| D \pic at (0,0) {shunt_limit_forward};
shunt limit (backward) l \draw[line width=2pt] (-2.5,0) -= ++(5,0); topologySymbols.tex
\pic at (0,0) {shunt_limit_backward};
block end marker (forward) \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
i \pic at (0,0) {block_end_marker_forward};
block end marker (backward) ?’ \draw[line width=2pt] (-2.5,0) —- ++(5,0); topologySymbols.tex

\pic at (0,0) {block_end_marker_backward};




Name Symbol Code File
block clearing point (forward) . \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
O \pic at (0,0) {block_clearing_point_forward};
block clearing point (backward) o \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
\pic at (0,0) {block_clearing_point_backward};
route clearing point (forward) . \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
o \pic at (0,0) {route_clearing_point_forward};
route clearing point (backward) Q \draw[line width=2pt] (-2.5,0) -- ++(5,0); topologySymbols.tex
\pic at (0,0) {route_clearing_point_backward};
clearing point + \draw[line width=2pt] (-2.5,0) -= ++(5,0); topologySymbols.tex
\pic at (0,0) {clearing_point};
/ \draw[line width=2pt] (-2.5,0) -- ++(5,0);
turnout left (forward) \draw[line width=2pt] ( 0,0) -- ++(1,1); topologySymbols.tex
\pic at (0,0) {turnout_left_forward};
\draw[line width=2pt] (-2.5,0) -- ++( 5, 0);
turnout left (backward) \draw[line width=2pt] ( 0,0) -- ++(-1,-1); topologySymbols.tex

\pic at (0,0) {turnout_left_backward};




Name Symbol Code File
\draw[line width=2pt] (-2.5,0) -- ++(5, 0);
turnout right (forward) \draw[line width=2pt] ( 0,0) -- ++(1,-1); topologySymbols.tex
\ \pic at (0,0) {turnout_right_forward};
\ \draw[line width=2pt] (-2.5,0) -- ++( 5,0);
turnout right (backward) \draw[line width=2pt] ( 0,0) -- ++(-1,1); topologySymbols.tex
\pic at (0,0) {turnout_right_backward};
\draw[line width=2pt] (-2.5,0) -- ++(5,0);
turnout l'eft (fOJ'rwa.rd)' \draw[line width=2pt] ( 0,0) -- ++(1,1); topologySymbols.tex
with fouling point indicator \pic at (0,0) {turnout_left_forward};
\pic at (0,0) {fouling point_left_forward};
\draw[line width=2pt] (-2.5,0) -- ++( 5, 0);
turnout left (bam.ckvsfar(.i) \draw[line width=2pt] ( 0,0) -- ++(-1,-1); topologySymbols.tex
with fouling point indicator \pic at (0,0) {turnout_left_backward};
\pic at (0,0) {fouling point_left_backward};
\draw[line width=2pt] (-2.5,0) -- ++(5, 0);
turnout r.lght (forwgrd) \draw[line width=2pt] ( 0,0) -- ++(1,-1); topologySymbols.tex
with fouling point indicator \pic at (0,0) {turnout_right_forward};
\pic at (0,0) {fouling point_right_forward};
\ \draw[line width=2pt] (-2.5,0) -- ++( 5,0);
turnout right (backward) \draw[line width=2pt] ( 0,0) -- ++(-1,1); topologySymbols. tex

with fouling point indicator

\pic at (0,0) {turnout_right_backward};
\pic at (0,0) {fouling_point_right_backward};




Name Symbol Code File
\draw[line width=2pt] (-2.5, 0) -- ++(5,0);
\draw[line width=2pt] (-1 ,-1) -- ++(2,2);
d . — 4 \pic at (0,0) {turnout_left_forward};
ouble-slip turnout left - ’ - - ’ topologySymbols.tex
y — \pic at (0,0) {turnout_left_backward};
\pic at (0,0) {slip_left_forward};
\pic at (0,0) {slip_left_backward};
\draw[line width=2pt] (-2.5,0) -- ++(5, 0);
\draw[line width=2pt] (-1 ,1) -- ++(2,-2);
double-slip turnout right N \pic at (0,0) {turnout_right_forward}; topologySymbols.tex
~N \pic at (0,0) {turnout_right_backward};
\pic at (0,0) {slip_right_forward};
\pic at (0,0) {slip_right_backward};
/ \draw[line width=2pt] (2.5, 0) —-- ++(5,0);
diamond crossing left \draw[line width=2pt] (-1 ,-1) -- ++(2,2); topologySymbols.tex
\pic at (0,0) {turnout_left_forward=none}l};
\pic at (0,0) {turnout_left_backward=none};
\ \draw[line width=2pt] (-2.5,0) -- ++(5, 0);
diamond crossing right \draw[line width=2pt] (-1 ,1) —- ++(2,-2); topologySymbols.tex
\pic at (0,0) {turnout_right_forward=none};
\pic at (0,0) {turnout_right_backward=nonel};
b4 . . _ _ e .
derailer left (forward) 3 \draw[line width=1pt] (-2.5,0) ++(5,0); topologySymbols.tex
\pic at (0,0) {derailer_left_forward};
derailer left (backward) — \draw[line width=1pt] (-2.5,0) —— ++(5,0); topologySymbols.tex

\pic at (0,0) {derailer_left_backward};




Name Symbol Code File
derailer right (forward) k \draw[line width=1pt] (-2.5,0) —- ++(5,0); topologySymbols.tex
R\ \pic at (0,0) {derailer_right_forward};
A& . . _ _ __ A
derailer right (backward) 1 \draw[line width=1pt] (-2.5,0) ++(5,0); topologySymbols.tex
\pic at (0,0) {derailer_right_backward};
bufferstop (forward) % \draw[line width=2pt] (-2.5,0) -- ++(2.5,0); topologySymbols.tex
\pic at (0,0) {bufferstop_forward};
bufferstop (backward) ? \draw[line width=2pt] (0,0) -- ++(2.5,0); topologySymbols.tex
\pic at (0,0) {bufferstop_backward};
"I‘ | \draw[line width=2pt] (-2.5,0) -- ++(5,0);
level crossing (single track) \pic at (0,0) {level_crossing barrier_left}; topologySymbols.tex
| 4* \pic at (0,0) {level_crossing_barrier_right};
"I' | \draw[line width=2pt] (-2.5,-0.5) -- ++(5,0);
\draw[line width=2pt] (-2.5, 0.5) -- ++(5,0);
level crossing (double track) | | \pic at (0, 0.5) {level_crossing_barrier_left}; topologySymbols.tex

|+

\pic at (0, 0.5) {level_crossing};
\pic at (0,-0.5) {level_crossing_barrier_right};




Name

Symbol

Code

File

level crossing (double track)
with full closure

-

i

\draw[line width=2pt] (-2.5,-0.5) -- ++(5,0);
\draw[line width=2pt] (-2.5, 0.5) -- ++(5,0);
\pic at (0, 1.5) {level_crossing_barrier_right};
\pic at (0, 0.5) {level_crossing barrier_left};
\pic at (0, 0.5) {level_crossing};

\pic at (0,-0.5) {level_crossing_barrier_right};
\pic at (0,-1.5) {level_crossing_barrier_left};

topologySymbols.tex

\draw[line width=2pt] (-2.5,0) -- ++(5,0);

bridge \pic at (-2,0) {bridge_left=4}; topologySymbols.tex
\pic at (-2,0) {bridge_right=4};
/ \draw[line width=2pt] (-1,-1) -- ++(2,2);
bridge \fill[white] (-1,-0.4) rectangle (1,0.4);

with track beneath

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (-1,0) {bridge_left=3};
\pic at (-2,0) {bridge_right=3};

topologySymbols.tex

train (not moving)

label

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (-2,0) {train};
\node [font=\sffamily] at (0,0) {labell};

vehicles.tex

short train (not moving)

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (-0.5,0) {train=1};
% change the 1 to desired length

vehicles.tex

train moving (forward)

\draw[line width=2pt] (-2.5,0) -- ++(5,0);
\pic at (2,0) {train_moving_forward};

vehicles.tex




Name Symbol Code File

train moving (backward) — \drawlline uidth=2pt] (-2.5,0) —= ++(5,0);

vehicles.tex
\pic at (-2,0) {train_moving_backward};

ghost train moving (forward) ' - \draw[line width=2pt] (-2.5,0) -= ++(5,0); vehicles.tex
I R ‘ \pic at (2,0) {ghost_train_moving_forward};

ghost train moving (backward) ¢ . \draw([line width=2pt] (-2.5,0) -- ++(5,0);
------------------ \pic at (-2,0) {ghost_train_moving_backward};

vehicles.tex
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solarlzed color scheme by IEthan Schoonover
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